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Finding the GCF of Monomi
Find the GCF of each pair of monomials.

Wite the prime factorization of each
coefficient and wiite powers as products.
Align the common factors.

3.3.x=3x  find the product of the common factors.
‘The GCF of 3 and 6x? s 35

[B] 4x*andsy* Wiite the prime factorization of each
awi=2.2. ax coefficient and wite posversas products
S'= 5. y.y-y Align the common factor.

There are no common factors other than 1.
‘The GCF of 4x” and 5" Is 1

h Find the GCF of each pair of monomials.
3a. logiand27g’  3b. 16a%and9b  3e Gxand 7ot





